

٢٥

تالیف ۳۳ (مدرس) اساماعلی

۱)

(۲)

$$\log_n^m = a \Rightarrow {}_n a = m \Rightarrow \log_{mn}^{m^r n} = \log_n^{n^{ra+1}} = \frac{ra+1}{a+1} \log_n^n$$

$$\Rightarrow b = \frac{ra+1}{a+1}, a > 0 \Rightarrow b = 1, \Rightarrow [b] = 1 \checkmark$$

۲) الف: $n > 0 / \log \frac{n}{r} = -\log \frac{n}{r} \Rightarrow \frac{n}{-\log \frac{n}{r}} > 0$ شرطها $\left. \begin{array}{l} n=0 \\ n=1 \end{array} \right\}$ (۲)

$$\log \frac{n}{r} = 0 \Rightarrow n = r^0 = 1$$

$$n > 0 \cap n \in [0, 1) = R_f = n \in (0, 1) \checkmark$$

ب:

$$\left\{ \begin{array}{l} n^2 - n - 2 > 0 \rightarrow (n+1)(n-2) \quad \begin{array}{c} -1 \quad 2 \\ + \quad - \quad + \end{array} \\ n^2 - 1 > 0 \rightarrow n^2 > 1 \rightarrow n \in (-\infty, -1) \cup (1, +\infty) \\ \sqrt{n^2 - 1} + 1 \neq 0 \rightarrow \text{به ازای هیچ } n \text{ صفر نمی دهد} \end{array} \right.$$

$$R_f: (-\infty, -1) \cup (1, +\infty) \checkmark$$

۳) $2 \log_a^a + \log_a^{\sqrt{a}} = 2 \log_a^a + \log_{(a)^r}^{(a)^r} = \log_a^{a^r} + \frac{1}{\log_a^{a^r}} = 2$ (۲)

$$\Rightarrow \log_a^{a^r} = 1 \Rightarrow a^r = a \Rightarrow a = 3 \checkmark$$

۳- غیر قابل قبول زیرا $2 \log_a^a$ $a > 0$ با بیابانه

$$4) \log_{10} \frac{9}{10} = \log_{10} \frac{10}{10} - \log_{10} \frac{10}{10} = (\log_{10} \frac{10}{10} - \log_{10} \frac{10}{10}) - \log_{10} \frac{10}{10} = 0,3$$

$$\log_{10} 9 = 2 \log_{10} 3 = 0,8 \quad \log_{10} 10 = \log_{10} 9 + \log_{10} 10 = 1,1 \quad (2)$$

$$0,3u^2 + 0,8u - 1,1 = 0 \xrightarrow{\text{مع فزايب}} u = 1, -\frac{11}{3}$$

$$1 - (-\frac{11}{3}) = \frac{14}{3} \quad \checkmark$$

$$a) \log_{10} \frac{10}{10} = \log_{10} 2 + \log_{10} 5 \quad \therefore \log_{10} 2 = \frac{1}{\log_{10} 10} = \frac{1}{\log_{10} 2 + \log_{10} 5} = \frac{1}{1,1}$$

$$\log_{10} 5 = \frac{1}{\log_{10} 10} = \frac{1}{\log_{10} 2 + \log_{10} 5} \rightsquigarrow \log_{10} 5 = \frac{1,1 \log_{10} 5}{\log_{10} 2 + \log_{10} 5} = \frac{1,1}{1} = 1,1$$

$$\log_{10} 5 = \frac{1}{1,1} = \frac{10}{11}$$

$$\log_{10} \frac{10}{10} = \frac{1}{1,1} + \frac{1}{1,1} = \frac{2}{1,1} = \frac{10}{11} \quad \checkmark$$

$$9) \log_{10} \frac{9}{10} = \log_{10} 3 + \log_{10} 5 \quad \therefore \log_{10} 3 = \frac{1}{\log_{10} 10} = \frac{1}{\log_{10} 3 + \log_{10} 5} = \frac{1}{1,5}$$

$$\log_{10} 5 = \frac{1}{\log_{10} 10} = \frac{1}{\log_{10} 3 + \log_{10} 5} \rightsquigarrow \log_{10} 5 = \frac{1,5 \log_{10} 5}{\log_{10} 3 + \log_{10} 5} = \frac{1,5}{1} = 1,5$$

$$\log_{10} \frac{9}{10} = \frac{1}{1,5} + \frac{1}{1,5} = \frac{2}{1,5} = 0,90 \quad \checkmark$$

$$V) \lg_{\frac{1}{r}}^r = \lg_{\frac{1}{r}}^1 + \lg_{\frac{1}{r}}^r \quad \lg_{\frac{1}{r}}^r = \frac{1}{r} \lg_r^r \quad (2)$$

$$\lg_{\frac{1}{r}}^m = \lg_{\frac{1}{r}}^1 + \lg_{\frac{1}{r}}^r = \frac{1}{r} \lg_r^r + \frac{1}{\lg_r^1} = m \Rightarrow \lg_r^r = \frac{r}{r} (m - \frac{1}{r})$$

$$\Rightarrow \lg_{\frac{1}{r}}^r = 1 + \frac{1}{r} \left(\frac{r}{r} (m - \frac{1}{r}) \right) = \frac{r}{r} m + \frac{r}{r} = \frac{r}{r} (m + 1)$$

$$A) (0,1)^{m-1} = \left(\frac{r}{\omega}\right)^{m-1} = \left(\frac{1/r}{\omega}\right)^{m-1} = \left(\frac{r}{\omega}\right)^{-m+1} \quad (2)$$

$$m-1 = -m \Rightarrow m + m - 1 = 0 \quad \begin{cases} m = -1 \\ m = \frac{1}{r} \end{cases}$$

$$\lg_{\frac{1}{r}}^{(9 \times \frac{1}{r} + 1)} = \lg_{\frac{1}{r}}^r = \lg_{\frac{1}{r}}^r = \frac{r}{r} \lg_r^r = \frac{r}{r}$$

$$9) \frac{r}{r} (1+a) = \frac{r}{r} (\lg_r^r + \lg_r^r) = \frac{r}{r} (\lg_r^r) \quad \lg_r^r = \lg_{\frac{1}{r}}^r$$

$$b = r^9 \Rightarrow \lg_{10}^{rb-1} = \lg_{10}^{100} = (2)$$

$$10) -ka^r + ba + \frac{1}{r}c = 0 \quad \frac{ka}{b} = \lg_{10}^k \quad \begin{cases} ka = b + c \\ b = ka - c \end{cases}$$

$$\frac{ka}{b} = \lg_{10}^k \rightarrow \frac{ka}{ka-c} = \lg_{10}^k \Rightarrow \frac{ka-c}{k} = \lg_{\frac{1}{r}}^k \quad (2)$$

$$\frac{c}{ka} = \frac{1}{r} - \lg_{\frac{1}{r}}^k \rightarrow \frac{c}{ka} = \lg_{\frac{1}{r}}^r - \lg_{\frac{1}{r}}^k = \lg_{\frac{1}{r}}^{r/k} \Rightarrow \frac{c}{a} = k (\lg_{\frac{1}{r}}^{r/k})$$

$$\left(\frac{1}{\sqrt{r}}\right)^{\frac{c}{a}} = r^{-\frac{1}{2n} \left(\frac{c}{a}\right)} = r^{\frac{1}{r} (\lg_{\frac{1}{r}}^{r/k})} = \left(\frac{1}{\sqrt{\omega}}\right)^{\frac{1}{r}} = \sqrt[k]{\omega}$$